
MATHS

BOOKS - A N EXCEL PUBLICATION

SEQUENCES AND SERIES

Question Bank

1. Write the first 5 terms of each of the

sequences whose  terms are given below nth

an = n(n + 2)

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_yCEfiANcDRPs


Watch Video Solution

2. Write the first 5 terms of each of the

sequences whose  terms are given below 

Watch Video Solution

nth

an =
n

n + 1

3. Write the first 5 terms of the sequence whose

 term is given below 

Watch Video Solution

nth an = 2n

https://dl.doubtnut.com/l/_yCEfiANcDRPs
https://dl.doubtnut.com/l/_BG502wcOQJX9
https://dl.doubtnut.com/l/_Jb4iAZS0lW8L


4. Write the first 5 terms of each of the

sequences whose  terms are given below 

Watch Video Solution

nth

an =
2n − 3

6

5. Write the first 5 terms of each of the

sequences whose  terms are given below 

Watch Video Solution

nth

an = ( − 1)n− 15n+ 1

https://dl.doubtnut.com/l/_p1a3Al4HYzVH
https://dl.doubtnut.com/l/_t4zFpgjqUbeJ
https://dl.doubtnut.com/l/_DByvFBmtCm1f


6. Write the first 5 terms of each of the

sequences whose  terms are given below 

Watch Video Solution

nth

an =
n(n2 + 5)

4

7. Find  and  if 

Watch Video Solution

a17 a24 an = 4n − 3

8. Find 

Watch Video Solution

a7 if an =
n2

2n

https://dl.doubtnut.com/l/_DByvFBmtCm1f
https://dl.doubtnut.com/l/_LB5KDWDilgs8
https://dl.doubtnut.com/l/_dCj9YBNAxvJi


Watch Video Solution

9. find 

Watch Video Solution

a9 if an = ( − 1)n− 1
n3

10. Find 

Watch Video Solution

a20 if an =
n(n − 2)

n + 3

11. Find the first 5 terms of the sequence having

the property  for all a1 = 3, an = 3an− 1 + 2

https://dl.doubtnut.com/l/_dCj9YBNAxvJi
https://dl.doubtnut.com/l/_LnipDu6kzzW1
https://dl.doubtnut.com/l/_RjQS0FYoi1Sj
https://dl.doubtnut.com/l/_HNdPBB67DT5D


 . Also obtain the corresponding series

Watch Video Solution

n > 1

12. Write the first five terms of the sequence

having the property

 Also, obtain the

corresponding series

Watch Video Solution

a1 = − 1an = , n ≥ 2
an− 1

n

https://dl.doubtnut.com/l/_HNdPBB67DT5D
https://dl.doubtnut.com/l/_bToTaS0Kp3yt


13. Write the first five terms of the sequence

having the property

. Also,

obtain the corresponding series.

Watch Video Solution

a1 = a2 = 2, an = an− 1 − 1, n > 2

14. The Fibonacci sequence is defined by

 and .

Find  for n=1,2,3,4,5

Watch Video Solution

1 = a1 = a2 an = an− 1 + an− 2, n > 2

( )
an+ 1

an

https://dl.doubtnut.com/l/_pOiHiigWau3a
https://dl.doubtnut.com/l/_dE6unasS7rI0


15. The  term of a sequence is given by 

. Prove that the. sequence is an A.P.

Also find its common difference.

Watch Video Solution

nth

an = 2n + 7

16. Which term of the sequence 72,70, 68,66,….is

40?

Watch Video Solution

https://dl.doubtnut.com/l/_EpDkYaPSNUEf
https://dl.doubtnut.com/l/_YIJ22Yh6K7cF


17. The  and  terms of an A.P are 19 and

41 respectively, find the  term.

Watch Video Solution

6th 17th

40th

18. If  term of an A.P is zero, prove that its 

 term is double the  term.

Watch Video Solution

9th

29th 19th

https://dl.doubtnut.com/l/_51xly4hp03Av
https://dl.doubtnut.com/l/_FlhdV4vxvaH6


19. If m times the  term of an A.P is equal to

n times its  term, show that the 

term of the AP is zero.

Watch Video Solution

mth

nth (m + n)th

20. If the sum of p terms of an AP is the same as

the sum of its q terms, show that the sum of its

 terms is zero.

Watch Video Solution

(p + q)

https://dl.doubtnut.com/l/_sdIrDJitvJcx
https://dl.doubtnut.com/l/_2hS3NJa6L1E3
https://dl.doubtnut.com/l/_qgfHRGkC2oSJ


21. How many terms of the sequence 54,51,48,

...be taken so that their sum is 513. Explain the

double answer.

Watch Video Solution

22. Find the sum of all integers between 50 and

500 which are divisible by 7:

Watch Video Solution

https://dl.doubtnut.com/l/_qgfHRGkC2oSJ
https://dl.doubtnut.com/l/_b6omixQzwfqg


23. The sum of three numbers in A.P. is -3,'and

their product is 8. Find the numbers.

Watch Video Solution

24. If a, b, c are in A.P, prove that 

are also in A.P.

Watch Video Solution

, ,
1

bc

1

ca

1

ab

https://dl.doubtnut.com/l/_lgzJGyXGikqw
https://dl.doubtnut.com/l/_FYonvKgsFLQF


25. If  are in

A.P, prove that are also A.P.s

Watch Video Solution

, ,
b + c − a

a

c + a − b

b

a + b − c

c

, ,
1

a

1

b

1

c

26. Find the sum of odd integers from 1 to 2001

Watch Video Solution

27. Find the sum of all natural numbers

between 100 and 1000 which are multiple of 5.

https://dl.doubtnut.com/l/_pw6bFAApQ3q9
https://dl.doubtnut.com/l/_5Rl9XgdroKNJ
https://dl.doubtnut.com/l/_Kv0S1Gdoynep


Watch Video Solution

28. In an A.P, the first term is 2 and the sum of

the first five terms is one-fourth of the next five

terms. Show that  term is

Watch Video Solution

20th −112

29. How many terms of the A.P,-6 ,

,...are needed to give the sum -25?

Watch Video Solution

− , − 5
11
2

https://dl.doubtnut.com/l/_Kv0S1Gdoynep
https://dl.doubtnut.com/l/_ayLuYDBSlRE8
https://dl.doubtnut.com/l/_OpY6exwBO5Qb


30. If the  terms of an AP is  and the 

term is , prove that the sum of the first 

terms is 

Watch Video Solution

mth
1

n
nth

1

m
mn

(mn + 1)
1

2

31. If the sum of certain number of terms of the

AP 25,22,19,........is 116, then find the last term.

Watch Video Solution

https://dl.doubtnut.com/l/_hUqLfQNbjS7P
https://dl.doubtnut.com/l/_x2cWcw95VP4V


32. Find the sum of n terms of the AP, whose

 term is .

Watch Video Solution

K th ak = 5K + 1

33. If the sum of n terms of an A.P. is ,

where p and q are constants, find the common

difference.

Watch Video Solution

pn + qn2

https://dl.doubtnut.com/l/_nabLnMUDxEQX
https://dl.doubtnut.com/l/_Vx0pnlBJPS1h


34. The sums of n terms of two A.P.s are in the

ratio (5n + 4): (9n + 6). Find the ratio of their

 terms.

Watch Video Solution

18th

35. If the sum of p terms of an AP is the same as

the sum of its q terms, show that the sum of its

 terms is zero.

Watch Video Solution

(p + q)

https://dl.doubtnut.com/l/_BioZ6QTXtzKF
https://dl.doubtnut.com/l/_H5ghV1pWTFJi
https://dl.doubtnut.com/l/_c83ppdfhhPU4


36. The sum of the first p,q,r terms of an AP are

a,b,c respectively, prove that 

Watch Video Solution

(q − r) + (r − p) + (p − q) = 0
a

p

b

q

c

r

37. The ratio of the sums of m and n terms of

an A.P is . Show that the ratio of and 

 terms is (2m — 1): (2n — 1).

Watch Video Solution

m2 : n2 mth

nth

https://dl.doubtnut.com/l/_c83ppdfhhPU4
https://dl.doubtnut.com/l/_mooVk9mxvpCM


38. If the sum of n terms of an A.P is 

and its  term is 164. Find the value of m.

Watch Video Solution

3n2 + 5n

mth

39. Insert five numbers between 8 and 26 such

that the resulting sequence is an AP.

Watch Video Solution

https://dl.doubtnut.com/l/_MqlJlJn5qSHU
https://dl.doubtnut.com/l/_D6iwO0WXUSuo


40. If  is the A.M. between a and

b, find the value of n

Watch Video Solution

an + bn

an− 1 + bn− 1

41. Between 1 and 31, m numbers have been

inserted in such a way that the resulting

sequence is an A.P. and the ratio of  and 

 numbers in 5:9. Find the value of m.

Watch Video Solution

7th

(m − 1)th

https://dl.doubtnut.com/l/_o4Nl4z9xdRsE
https://dl.doubtnut.com/l/_nyqK64tSU6X8
https://dl.doubtnut.com/l/_JpM0T2diw3s7


42. A man starts repaying a loan as a first

instalment of Rs. 100. If he increases the

instalment by Rs. 5 every month, what amount

he will pay in the  instalment.

Watch Video Solution

30th

43. The difference between any two consecutive

interior angles of a polygon is . If the

smallest angle, is , find the number of

sides of the polygon.

Watch Video Solution

5∘

120∘

https://dl.doubtnut.com/l/_JpM0T2diw3s7
https://dl.doubtnut.com/l/_eoxu6srt9S2P


44. The  term of a sequence is given by 

 List the first 4 terms of the

sequence

Watch Video Solution

nth

an = 4n + 7

45. The  term of a sequence is given by 

 Is the sequence an A.P?. If yes, find

the common difference of the A.P

Watch Video Solution

nth

an = 4n + 7

https://dl.doubtnut.com/l/_eoxu6srt9S2P
https://dl.doubtnut.com/l/_jjEfZeGlhLaz
https://dl.doubtnut.com/l/_FgNYaO2nJKME


46. The  term of a sequence is given by 

 Is the sequence an A.P?. If yes, find

the common difference of the A.P

Watch Video Solution

nth

an = 4n + 7

47. Consider a sequence whose sum to n terms

is given by  Find 

Watch Video Solution

Sn = 2n2 + 4n an

https://dl.doubtnut.com/l/_ncbDOcAc7Lnq
https://dl.doubtnut.com/l/_XhCb60I7Ps8K


48. Consider a sequence whose sum to n terms

is given by  Is the sequence an

A.P? If yes, find the common difference of the

AP.

Watch Video Solution

Sn = 2n2 + 4n

49. Find the  term of the A.P 84, 80,76,.....

Watch Video Solution

nth

https://dl.doubtnut.com/l/_0MP6cQfRDjdM
https://dl.doubtnut.com/l/_AvTs59XTDZuw


50. If  is the  term of an A.P whose first

term is a and common difference is d, prove

that 

Watch Video Solution

an nth

n = + 1
an − a

d

51. Prove that the number of terms in the A.P.

3,6,9,….111 is 37

Watch Video Solution

https://dl.doubtnut.com/l/_Ix4O4nqcqWlK
https://dl.doubtnut.com/l/_F7fh8B7zJUJd


52. Find the number of natural numbers

between 1 and 100 which are divisible by 3.

Watch Video Solution

53. Find the sum of natural numbers between 1

and 100 which are divisible by 3.

Watch Video Solution

https://dl.doubtnut.com/l/_HW1y3ihLCSP1
https://dl.doubtnut.com/l/_x3zrwv7xcZXv


54. Suppose that the  and  terms of an

A.P. are 19 and 41 respectively Find the first term

and the common difference of the A.P.

Watch Video Solution

6th 17th

55. The  and  terms of an A.P are 19 and

41 respectively, find the  term.

Watch Video Solution

6th 17th

40th

https://dl.doubtnut.com/l/_icD6yaiahBRL
https://dl.doubtnut.com/l/_m2NOrYGlvisG


56. Suppose that the first and the  terms of

an A.P. are-14 and 2 respectively Find the

common difference of the A.P

Watch Video Solution

5th

57. Suppose that the first and the  terms of

an A.P. are-14 and 2 respectively If the sum of

the terms of the A.P is 40, find the number of

terms in the A.P.

Watch Video Solution

5th

https://dl.doubtnut.com/l/_lhsM3UN3Ulw3
https://dl.doubtnut.com/l/_XixlTyTADapW


58. If a is the first term and d is the common

difference of an A.P, what is its 25th term?

Watch Video Solution

59. If 10 times the  term of the A.P is equal

to 15 times  term, show that the 25th term

is 0

Watch Video Solution

10th

15th

https://dl.doubtnut.com/l/_zmGQ33VG8XYM
https://dl.doubtnut.com/l/_aNVNmvZlwSZs


60. Suppose that three numbers are in A.P. If

the sum of the three numbers is 27, find the

middle number

Watch Video Solution

61. Suppose that three numbers are in A.P.if the

sum of the three numbers is 27 and the

product of the numbers is 648, find the

numbers

Watch Video Solution

https://dl.doubtnut.com/l/_DS474Ai2Ah8p
https://dl.doubtnut.com/l/_0cth5IIE2cEd


62. Suppose that four numbers are in A.P. Let

the four numbers be a-3d, a-d, a+d and a+3d If

the sum of the numbers is 50, find a

Watch Video Solution

63. Suppose that four numbers are in A.P. Let

the four numbers be a-3d, a-d, a+d and a+3d If

the sum of the numbers is 50 and greatest

number is 4 times the least, find the numbers

Watch Video Solution

https://dl.doubtnut.com/l/_KnS6d9Wv2tM7
https://dl.doubtnut.com/l/_kAfk3UtpoOKQ


64. Consider the A.P. 18,15,12.... Find the sum to n

terms of the A.P.

Watch Video Solution

65. Consider the A.P. 18,15,12.... How many terms

are needed to give the sum 45?

Watch Video Solution

https://dl.doubtnut.com/l/_nRij0eXhGevR
https://dl.doubtnut.com/l/_3I7wNJERc44s


66. Consider the equation 1+6+11 + 16 + ... +x=

148 If n is the number of terms in the sum,

prove that -

Watch Video Solution

n =
x + 4

5

67. Consider the equation 1+6+11 + 16 + ... +x=

148 Prove that 

Watch Video Solution

x2 + 5x − 1476 = 0

https://dl.doubtnut.com/l/_87rUXsQVY1Bx
https://dl.doubtnut.com/l/_VFW8PHGR2Iij


68. Consider the equation 1+6+11 + 16 + ... +x=

148 Solve the given equation

Watch Video Solution

69. If  and  are respectively the sums of

n, 2n and 3n terms of an A.P, whose first term is

a and common difference d, then find 

and 

Watch Video Solution

S1, S2 S3

S1, S2

S3

https://dl.doubtnut.com/l/_C6QCjOry5x5C
https://dl.doubtnut.com/l/_9j3iRKw8vv1c
https://dl.doubtnut.com/l/_z5ms4JmLj8wI


70. If  are respectively the sums

of n, 2n and 3n terms of an AP.Prove that

Watch Video Solution

S1, S2 and S3

S3 = 3(S2 − S1)

71. Find the number of integers between 100

and 800 each of which on division by 16 leaves

the remainder 7.

Watch Video Solution

https://dl.doubtnut.com/l/_z5ms4JmLj8wI
https://dl.doubtnut.com/l/_rQ5FwtwoxpHA


72. Find the number of integers between 100

and 800 each of which on division by 16 leaves

the remainder 7.Find the sum of these integers.

Watch Video Solution

73. If  and  are the 6 terms

between 3 and 24, find the common difference

of the corresponding A.P.

Watch Video Solution

x1, x2, x3, x4, x5 x6

https://dl.doubtnut.com/l/_KgGpm3lLMEXk
https://dl.doubtnut.com/l/_D64j7PSB6Ydp
https://dl.doubtnut.com/l/_DrlupeO5Tz1V


74. Insert 6 arithmetic means between 3 and 24.

Watch Video Solution

75. Suppose that a, b, c are in A.P. Prove that 2b

= a + c

Watch Video Solution

76. Suppose that a, b, c are in A.P. Prove that

 are in A.P.

Watch Video Solution

a2(b + c), b2(c + a), c2(a + b)

https://dl.doubtnut.com/l/_DrlupeO5Tz1V
https://dl.doubtnut.com/l/_7OXewTShcksW
https://dl.doubtnut.com/l/_YY70uFSyfNNb


77. If a, b, c are in A.P, prove that 

are also in A.P.

Watch Video Solution

, ,
1

bc

1

ca

1

ab

78. Suppose a, b, c are in A.P. Prove that

are in A.P.

Watch Video Solution

, ,
ab + bc + ca

bc

ab + bc + ca

ca

ab + bc + ca

ab

https://dl.doubtnut.com/l/_YY70uFSyfNNb
https://dl.doubtnut.com/l/_EPczNRg6ouV6
https://dl.doubtnut.com/l/_6LzrksUssKRm
https://dl.doubtnut.com/l/_fso10SE5tZYu


79. Suppose a, b, c are in A.P.Prove that

 are in

A.P.

Watch Video Solution

a( + ), b( + ), c( + )
1

b

1

c

1

c

1

a

1

a

1

b

80. Suppose  are in A.P. Prove that 

Watch Video Solution

a2, b2, c2

2b2 = a2 + c2

https://dl.doubtnut.com/l/_fso10SE5tZYu
https://dl.doubtnut.com/l/_RlW04NdsOwrS


81. Suppose  are in A.P. Prove that 

are also in A.P.S

Watch Video Solution

a2, b2, c2

, ,
a

b + c

b

c + a

c

a + b

82. Suppose  are in

A.P.Prove  are also A.P.

Watch Video Solution

, ,
b + c

a

c + a

b

a + b

c

, ,
1

a

1

b

1

c

https://dl.doubtnut.com/l/_WyHHlABPLVF6
https://dl.doubtnut.com/l/_6W8nFUItVIUz


83. Suppose  are in

A.P.Prove  are also A.P.

Watch Video Solution

, ,
b + c

a

c + a

b

a + b

c

, ,
1

a

1

b

1

c

84. Suppose a, b, c are in A.P. Prove that

. Hence,

Prove that  are in A.P.

Watch Video Solution

bc − a2 + ab − c2 = 2b2 − (a2 + c2)

bc − a2, ca − b2, ab − c2

https://dl.doubtnut.com/l/_hnIfqtLYaEhk
https://dl.doubtnut.com/l/_CJ6WrRmaCruF


85. Suppose a, b, c are in A.P. Prove that

Watch Video Solution

(a + 2b − c)(2b + c − a)(c + a − b) = 4abc

86. A farmer buys a used tractor for Rs. 12,000.

He pays Rs. 6000 cash and agrees to pay the

balance in 12 annual instalments of Rs. 500 plus

 interest on the unpaid amount. Write the

annual instalments as an A.P

Watch Video Solution

12 %

https://dl.doubtnut.com/l/_CUnhmJBmohmT
https://dl.doubtnut.com/l/_5sTtx1jtB7J0


87. A farmer buys a used tractor for Rs. 12,000.

He pays Rs. 6000 cash and agrees to pay the

balance in 12 annual instalments of Rs. 500 plus

 interest on the unpaid amount How

mush will the tracter cost the farmer?

Watch Video Solution

12 %

88. Find the  term of the G.P. 

Watch Video Solution

10th

− , , − , , ….
3

4

1

2

1

3

2

9

https://dl.doubtnut.com/l/_UsvE66jF9RZT
https://dl.doubtnut.com/l/_RGM33Z1BFiLz


89. Which term of the progression 18, -12, 8,… is

?

Watch Video Solution

512

729

90. The fourth, seventh and the last term of a

G.P. are 10,80 and 2560 respectively. Find the

first term and the number of terms in the G.P?

Watch Video Solution

https://dl.doubtnut.com/l/_b6ELmdhz6IJv
https://dl.doubtnut.com/l/_Vpk9OVPevZh0


91. The first term of a G.P is 1. The sum of the

third and fifth terms is 90. Find the common

ratio of the G.P.

Watch Video Solution

92. Find sum of 5 + 55 + 555 + ... to n terms.

Watch Video Solution

https://dl.doubtnut.com/l/_JrZ5BoPpTSGh
https://dl.doubtnut.com/l/_G7rUK2RFpf7k


93. If  to , where 

 and  to  , where

, prove that  to 

Watch Video Solution

x = 1 + a + a2 + …. ∞

|a| < 1 y = 1 + b + b2 + … ∞

|b| < 1 1 + ab + a2b2 + …

∞ = ( )
xy

x + y − 1

94. A square is drawn by joining the mid points

of the sides of a square. A third square is drawn

inside the second square in the same way and

the process is continued infinitely. If the side of

https://dl.doubtnut.com/l/_aisjTvaJg0uK
https://dl.doubtnut.com/l/_qwiMba2VSjae


the square is 10 cms, find the sum of the areas

of all the squares so formed.

Watch Video Solution

95. Find the  and  terms of the G.P. 

Watch Video Solution

20th nth

, , , …
5

2

5

4

5

8

96. Find the  term of a G.P. whose  term

is 192 and the common ratio is 2.

12th 8th

https://dl.doubtnut.com/l/_qwiMba2VSjae
https://dl.doubtnut.com/l/_Yik5hbxeO1CV
https://dl.doubtnut.com/l/_cLwTqtbn32N6


Watch Video Solution

97. The ,  and  terms of a GP are p, q

and s respectively. Prove that .

Watch Video Solution

5th 8th 11th

q2 = ps

98. The  term of a G.P. is square of its second

term and the first term is -3.Determine its 

term.

Watch Video Solution

4th

7th

https://dl.doubtnut.com/l/_cLwTqtbn32N6
https://dl.doubtnut.com/l/_Bv7x1SIlE08D
https://dl.doubtnut.com/l/_Rr5d10zbp3Q1


99. Which term of the following sequences

is ?

Watch Video Solution

2, 2√2, 4… 128

100. Which term of the following sequences

is ?

Watch Video Solution

√3, 3, 3√3, ... 729

https://dl.doubtnut.com/l/_hgxGHRhIm4oT
https://dl.doubtnut.com/l/_ThFtd7DUPgbf


101. Which term of the following sequences

?

Watch Video Solution

, , , ...is
1

3

1

9

1

27

1

19683

102. Find the sum to 20 terms of

0.15,0.015,0.0015,..

Watch Video Solution

https://dl.doubtnut.com/l/_CZnJokM1nZVr
https://dl.doubtnut.com/l/_iLQ5ddb4b3Vz


103. For what value of x, the numbers

 are in G.P ?

Watch Video Solution

− , x. −
2

7

7
2

104. Find the sum to n terms of the G.P.

Watch Video Solution

√7, √21, 3√7…

https://dl.doubtnut.com/l/_CyJdvnYTgene
https://dl.doubtnut.com/l/_S2tE2hMIiBcp


105. Find the sum to n terms of the G.P.

Watch Video Solution

1, − a, a2, − a3, ...(a ≠ − 1)

106. Find the sum to n terms of the G.P.

Watch Video Solution

x3, x5, x7, …(x ≠ ± 1)

107. Evaluate 
11

∑
K= 1

(2 + 3K)

https://dl.doubtnut.com/l/_ewEWxxOuO0af
https://dl.doubtnut.com/l/_QrbppjSt0jW1
https://dl.doubtnut.com/l/_M7r2Eix2iDzf


Watch Video Solution

108. The sum of the first three terms of a GP is

 and their product is 1. Find the common

ratio and the terms.

Watch Video Solution

39

10

109. How many terms of the G.P.  are

needed to give the sum 120?

Watch Video Solution

3, 32, 33, …

https://dl.doubtnut.com/l/_M7r2Eix2iDzf
https://dl.doubtnut.com/l/_hs3nfuTfT1Nm
https://dl.doubtnut.com/l/_FiY3NJnLsvgH


110. The sum of first three terms of a G.P. is 16

and the sum of the next three terms is 128.

Determine the first term, the common ratio and

the sum to n terms of the G.P.

Watch Video Solution

111. Given.a G. P. with  and  term 64,

determine  ?

Watch Video Solution

a = 729 7th

S7

https://dl.doubtnut.com/l/_VXIGJa6SAmrj
https://dl.doubtnut.com/l/_wcltg6E7HF0z
https://dl.doubtnut.com/l/_tQiHcviTa48W


112. The sum of the first two terms of a GP Is -4

and the fifth term is 4 times the third term. 

Find the GP.

Watch Video Solution

113. If the  and  terms of a G.P. are

x,y and z respectively ,then prove that x,y,z are

in G.P.P.

Watch Video Solution

4th, 10th 16th

https://dl.doubtnut.com/l/_tQiHcviTa48W
https://dl.doubtnut.com/l/_UXKUUfSbWkDr


114. Find the sum to n terms of the sequence

8,88,888,8888…

Watch Video Solution

115. Find the sum of the products of the

corresponding terms of the sequences

2,4,8,16,32 and 

Watch Video Solution

128, 32, 8, 2,
1

2

https://dl.doubtnut.com/l/_eAGTJI771Fwd
https://dl.doubtnut.com/l/_hF4Eb2uGeQEo


116. Show that the products of the

corresponding terms of the sequences

 and A,AR,AR^2,….AR^(n-1)`

form n G.P. and find the C.R.

Watch Video Solution

a, ar, ar2, …arn− 1

117. Find four numbers forming a G.P. in which

the third term is greater than the first term by

9 and the second term is greater than the 

by 18

Watch Video Solution

4th

https://dl.doubtnut.com/l/_VoPA9xzl5mCG
https://dl.doubtnut.com/l/_ROCC5sWLScY8


118. If the ,  and  terms of a GP are a,b,c

respectively, show that 

Watch Video Solution

pth qth rth

aq−rbr−pcp−q = 1

119. If the first and the terms of a G.P. are a

and b respectively and if p is the product of n

terms, prove that 

Watch Video Solution

nth

p2 = (ab)n

https://dl.doubtnut.com/l/_ROCC5sWLScY8
https://dl.doubtnut.com/l/_K9ToibKdPLyT
https://dl.doubtnut.com/l/_yJkR3Xr38Q4P
https://dl.doubtnut.com/l/_u5mUMA0EeOnK


120. Show that the ratio of the sum of first n

terms of a G.P.to the sum of terms from

 to  term is 

Watch Video Solution

(n + 1)th (2n)th
1

rn

121. If a,b,c and d are in G.P.show that

Watch Video Solution

(a2 + b2 + c2)(b2 + c2 + d2) = (ab + bc + cd)2

https://dl.doubtnut.com/l/_u5mUMA0EeOnK
https://dl.doubtnut.com/l/_kW1zuxFyzOjI


122. Insert two numbers between 3 and 81 so

that the resulting sequence is a G.P.

Watch Video Solution

123. Find the value of n so that 

may be the G. M. between a and b.

Watch Video Solution

an+ 1 + bn+ 1

an + bn

https://dl.doubtnut.com/l/_JjGn85Pa9KEO
https://dl.doubtnut.com/l/_DYW6Invrwl3a


124. The sum of two numbers is 6 times their

geometric mean, show that numbers are the

ratio 

Watch Video Solution

(3 + 2√2) : (3 − 2√2)

125. If A and G be the A.M and G.M respectively

between two positive numbers, prove that the

numbers are 

Watch Video Solution

A ±√(A + G)(A − G)

https://dl.doubtnut.com/l/_h8x1LDoMyJOk
https://dl.doubtnut.com/l/_tVql7qmTVYqm
https://dl.doubtnut.com/l/_feLELntXFqRy


126. The number of bacteria in a certain culture

doubles every hour.If there were 30 bacteria

present in the culture originally, how many

bacteria will be present at the end of  hour,

 hour and hour`?

Watch Video Solution

2nd

4th nth

127. What will Rs. 500 amounts to in 10 years

after its deposit in a bank which pays annụal

interest rate of  compounded annually.

Watch Video Solution

10 %

https://dl.doubtnut.com/l/_feLELntXFqRy
https://dl.doubtnut.com/l/_dsvB7rT6dspV


128. If A.M and G. M of roots of a quadratic

equation are 8 and 5, respectively, then obtain

the quadratic equation.

Watch Video Solution

129. Consider the G.P. 12,8 ,16/3,…What the

common ratio of the G.P?

Watch Video Solution

https://dl.doubtnut.com/l/_dsvB7rT6dspV
https://dl.doubtnut.com/l/_tG2JqVWiKlVV
https://dl.doubtnut.com/l/_YR7Zq9jt3I5b


130. Consider the G.P. 12,8 ,16/3,…Prove that the

 term of the G.P is 

Watch Video Solution

6th
128

81

131. Consider the G.P …Find its 

term

Watch Video Solution

2, 1, ,
1

2

1

4
nth

https://dl.doubtnut.com/l/_IxWE240J3kgd
https://dl.doubtnut.com/l/_NiRBQ8XJa1AL


132. Consider the G.P …Which term of

the given G.P is 

Watch Video Solution

2, 1, ,
1

2

1

4
1

128

133. Suppose that three numbers are in G.P if in

addition the sum of the numbers is 65,and

whose product is 3375. Find the numbers

Watch Video Solution

https://dl.doubtnut.com/l/_Ts6Hq1ZzcSwT
https://dl.doubtnut.com/l/_rtMNnMkYU6vx


134. Suppose that three numbers are in G.P if in

addition the sum of the numbers is 65,and

whose product is 3375. Find the numbers

Watch Video Solution

135. Suppose that three numbers are in G.P If

the product of the numbers is 216, find the

middle number

Watch Video Solution

https://dl.doubtnut.com/l/_bv5whf8EMemK
https://dl.doubtnut.com/l/_C1ve3TbBUivz
https://dl.doubtnut.com/l/_Qxf0v9CSVAHg


136. Suppose that three numbers are in G.P The

product of three numbers be 216.If 2.8.6 are

added to them, the results are in A.P. then find

the numbers

Watch Video Solution

137. Consider the G.p 3, 6, 12…Find its  term

and sum to n terms

Watch Video Solution

nth

https://dl.doubtnut.com/l/_Qxf0v9CSVAHg
https://dl.doubtnut.com/l/_TizKv9DIDP8T


138. Consider the G.p 3, 6, 12…If the sum to n

terms is 381, find n

Watch Video Solution

139. Suppose that a, ar,  are

the first 6 terms of a G.P Find the ratio of the

sum of the first tree terms and the sum of first

6 terms

Watch Video Solution

ar2, ar3, ar4, ar5

https://dl.doubtnut.com/l/_XzNVxq1hnV5l
https://dl.doubtnut.com/l/_lx3maXF60ctk
https://dl.doubtnut.com/l/_X5Yp1VX6X4Gk


140. Suppose that ,  are

the first 6 terms of a G.P If the ratio of the sum

of first three terms and the sum of first 6 terms

is 125:152 find the common ratio of the G.P

Watch Video Solution

a, ar ar2, ar3, ar4, ar5

141. Suppose the sum of the geometric series

…  is 3069 Assuming that

the sum contains n terms prove that

Watch Video Solution

3 + 6 + 12 + +1536

rn− 1 = 512

https://dl.doubtnut.com/l/_X5Yp1VX6X4Gk
https://dl.doubtnut.com/l/_vY3bzXKJKjcf


142. Suppose the sum of the geometric series

…  is 3069 Find the number

of terms in the series

Watch Video Solution

3 + 6 + 12 + +1536

143. Find the sum of n terms of the series

Watch Video Solution

7 + 77 + 777 + . .

https://dl.doubtnut.com/l/_vY3bzXKJKjcf
https://dl.doubtnut.com/l/_icf42Mu5tQZE
https://dl.doubtnut.com/l/_JAZ6HotJigw6


144. Find the sum of n terms of the series

..........

Watch Video Solution

7 + 77 + 777 +

145. Consider an infinite G.P with first term a

and common ratio  If we

take the squares of the trems of this G.P. what

will be the resultant sequence?

Watch Video Solution

r − ( − 1 < r < 1)

https://dl.doubtnut.com/l/_uNSOlUTJVHPZ
https://dl.doubtnut.com/l/_xZoixo9Du3Yq
https://dl.doubtnut.com/l/_JgnXcAkRJe0V


146. Consider an infinite G.P with first term a

and common ratio  If the

sum of the given infinite G.P is 15 and the sum

of squares of its terms is 45, find a and r

Watch Video Solution

r, ( − 1 < r < 1)

147. If  and  …to ,

can we write  ?

Watch Video Solution

|a| < 1 b = a + a2 + a3 + ∞

b =
a

1 − a

https://dl.doubtnut.com/l/_JgnXcAkRJe0V
https://dl.doubtnut.com/l/_llr13ZXthqhE


148. If , lal .Prove

that 

Watch Video Solution

b = a + a2 + a3 + .... . ∞ < 1

a =
b

1 + b

149. Assume that 3.52 denotes 3.52222. If x=3.52,

find 10x and 100x

Watch Video Solution

https://dl.doubtnut.com/l/_oYyhRXzBXhU2
https://dl.doubtnut.com/l/_3dTtWmKY6JBB


150. Assume that 3.52 denotes 3.52222. Express

this as a rational fraction.

Watch Video Solution

151. Suppose  are three

consecutive terms of an AP. Prove that

Watch Video Solution

, ,
1

a + b

1

2b

1

b + c

(a + b)(b + c) = b(a + 2b + c)

https://dl.doubtnut.com/l/_11ERRrP160sb
https://dl.doubtnut.com/l/_b8xbP487EBf8


152. Suppose  are three

consecutive terms of an AP. Prove that a,b,c are

the consecutive terms of a G.P.

Watch Video Solution

, ,
1

a + b

1

2b

1

b + c

153. Suppose that a,b,c,d are in G.P with

common ratio r Prove that 

and 

Watch Video Solution

b + c = ar(1 + r)

b + d = ar(1 + r2)

https://dl.doubtnut.com/l/_c6oPASg0W3Zu
https://dl.doubtnut.com/l/_1hTu1sviz6bI
https://dl.doubtnut.com/l/_HPlFtR8sa6w5


154. Suppose that a,b,c,d are in G.P with

common ratio r Prove that

Watch Video Solution

(b + c)(b + d) = (c + a)(c + d)

155. A sum of Rs. 10,000 is invested at  p.a.

compound interest? What is the total sum of

the money at the end of 3 years?

Watch Video Solution

8 %

https://dl.doubtnut.com/l/_HPlFtR8sa6w5
https://dl.doubtnut.com/l/_vrMf75ewhkSb


156. A sum of Rs. 10,000 is invested at  p.a.

compound interest? How long will it take for

the total sum of money to be twice the amount

invested?

Watch Video Solution

8 %

157. An investment firm claims that you can

double your money every year if you invest with

them. Suppose you invest Rs. 100 Write the first

five terms of the sequence associated with the

claim starting with a = 100

https://dl.doubtnut.com/l/_TaJkdG5XC5nN
https://dl.doubtnut.com/l/_yMoh7f8Zxzj1


Watch Video Solution

158. An investment firm claims that you can

double your money every year if you invest with

them. Suppose you invest Rs. 100 How much

money would you have at the end of 9 years?

Watch Video Solution

159. An investment firm claims that you can

double your money every year if you invest with

https://dl.doubtnut.com/l/_yMoh7f8Zxzj1
https://dl.doubtnut.com/l/_DLEvImxBCbMZ
https://dl.doubtnut.com/l/_Pa5HF7GlBBlW


them. Suppose you invest Rs. 100 How much

money would you have at the end of  year?

Watch Video Solution

nth

160. An investment firm claims that you can

double your money every year if you invest with

them. Suppose you invest Rs. 100 How many

years would it take for you to have over Rs.

1,00,000

Watch Video Solution

https://dl.doubtnut.com/l/_Pa5HF7GlBBlW
https://dl.doubtnut.com/l/_lq1YKqJf6xYd
https://dl.doubtnut.com/l/_nGvIPlr3D7Mz


161. Anil is entitled to a monthly payment which

in each month is less by one tenth than it was a

month before. Suppose he receives Rs. 5000 in

the first month. Express-the sequence of

monthly payments.as a G.P. Using it show that

he cannot receive more than Rs. 50,000 in his

life

Watch Video Solution

162. If A.M and G.M. of roots of a quaradratic

equation are 8 and 5 respectively , then obtain

https://dl.doubtnut.com/l/_nGvIPlr3D7Mz
https://dl.doubtnut.com/l/_errtB6thx53x


the quadratic equation.

Watch Video Solution

163. Suppose a and b are two numbers whose

A.M is A. Let  and  be two G.M.s between a

and b. Prove that 

Watch Video Solution

G1 G2

+ = 2A
G2

1

G2

G2
2

G1

164. Suppose that a and b are two positive

numbers so that their difference is 12. If their

https://dl.doubtnut.com/l/_errtB6thx53x
https://dl.doubtnut.com/l/_PiecBblzaWSM
https://dl.doubtnut.com/l/_oYTkwanlIrWN


A.M exceeds their G.M by 2, prove that

Watch Video Solution

a + b − 2√ab = 4

165. Suppose that a and b are two positive

numbers so that their difference is 12and

whose AM exceeds GM by 2. Prove that a = 16, b

= 4

Watch Video Solution

https://dl.doubtnut.com/l/_oYTkwanlIrWN
https://dl.doubtnut.com/l/_UQwRfowAlq4u


166. Find the sum to n terms of the series. 

...........

Watch Video Solution

1 × 2 + 2 × 3 + 3 × 4 + 4 × 5 +

167. Find the sum to n terms of the series 

Watch Video Solution

1 × 2 × 3 + 2 × 3 × 4 + 3 × 4 × 5 + ....... .

https://dl.doubtnut.com/l/_N6dqfvHY6PGs
https://dl.doubtnut.com/l/_FUoZUhPB4eXu


168. Find the sum to n terms of the series 

……..

Watch Video Solution

3 × 12 + 5 × 22 + 7 × 32 +

169. Find the sum to n terms of this series. 

Watch Video Solution

+ + + ......
1

1 × 2

1

2 × 3

1

3 × 4

https://dl.doubtnut.com/l/_caALoKdDLS6C
https://dl.doubtnut.com/l/_dmPiWOwhlSn2


170. Find the sum to of the series

Watch Video Solution

52 + 62 + 72 + … + 202

171. Find the sum to 'n' terms of the series

Watch Video Solution

3 × 8 + 6 × 11 + 9 × 14 + …....

https://dl.doubtnut.com/l/_HJh3ouuO9LLI
https://dl.doubtnut.com/l/_hha6597d4Mqj


172. Find the sum to n terms of the series

Watch Video Solution

12 + (12 + 22) + (12 + 22 + 32) + ...

173. Find the sum to n terms of the series

whose  term is 

Watch Video Solution

nth n(n + 1)(n + 4)

https://dl.doubtnut.com/l/_y4dV65bwdcFe
https://dl.doubtnut.com/l/_RsYi0lJJB8aB


174. Find the sum to n terms of the series

whose  term is 

Watch Video Solution

nth n2 + 2n

175. Find the sum to n terms of the series

whose  term is 

Watch Video Solution

nth (2n − 1)2

https://dl.doubtnut.com/l/_ysskzdKUzvuY
https://dl.doubtnut.com/l/_bR3H6b7eZT5K


176. Match the following 

Watch Video Solution

177. Find the sum to n terms of the series

whose  term is 

Watch Video Solution

nth 2n3 + 3n2 − 1

https://dl.doubtnut.com/l/_LnKs3NB4FbhN
https://dl.doubtnut.com/l/_sLTrUOkp0x0j


178. Find the  term of the series 

Watch Video Solution

nth

1 + (1 + 2) + (1 + 2 + 3) + . .

179. Find  term of the series 

Find the sum

to n terms of the series

Watch Video Solution

nth

1 + (1 + 2) + (1 + 2 + 3) + ....

https://dl.doubtnut.com/l/_LykQ7BFBugGk
https://dl.doubtnut.com/l/_VlocXyPPkyc6


180. What is the value of ?

Watch Video Solution

n

∑
1

3n

181. What is the value of ?

Watch Video Solution

n

∑
1

3n

182. Find the sum to n terms of the series

whose  term is 

Watch Video Solution

nth n3 − 3n

https://dl.doubtnut.com/l/_2Var4rLDTQEe
https://dl.doubtnut.com/l/_nxU5DRGrT2HD
https://dl.doubtnut.com/l/_jdJ8WaLUuTs2


183. Find the  term of series 

Watch Video Solution

nth

1.2.5 + 2.3.6 + 3.4.7. + …

184. Find the sum to n terms of this series

View Text Solution

https://dl.doubtnut.com/l/_jdJ8WaLUuTs2
https://dl.doubtnut.com/l/_tBILGzGv8Ha5
https://dl.doubtnut.com/l/_xVGYLkklIWbG


185. What is the sum of first n terms of an A.P.

whose first term is 'a' and common difference is

'd'?

Watch Video Solution

186. What is the  term of an A.P. whose first

term is 'a' and common difference is 'd'?

Watch Video Solution

nth

https://dl.doubtnut.com/l/_4ZbLedSJHxKn
https://dl.doubtnut.com/l/_xO4ppHabk2Mk


187. The ratio of the sums of m and n terms of

an A.P is . Show that the ratio of and 

 terms is (2m — 1): (2n — 1).

Watch Video Solution

m2 : n2 mth

nth

188. A student builds square pattern with

square bricks using the following sequence of

steps. 

The

https://dl.doubtnut.com/l/_t5dlnw3kH9QR
https://dl.doubtnut.com/l/_nkdCyJEqxuzH


number of bricks used in the Ist stage is 1,the

number of additional bricks used in the 2nd

stage is 3, the number of additional bricks used

in the 3rd stage is 5 and son on .How many

additional bricks does the student use in the

5th stage ?

Watch Video Solution

189. A student builds square pattern with

square bricks using the following sequence of

steps. 

https://dl.doubtnut.com/l/_nkdCyJEqxuzH
https://dl.doubtnut.com/l/_ix7Du72mOsod


The

number of bricks used in the Ist stage is 1,the

number of additional bricks used in the 2nd

stage is 3, the number of additional bricks used

in the 3rd stage is 5 and son on .How many

additional bricks does the student use in the

5th stage ?

Watch Video Solution

https://dl.doubtnut.com/l/_ix7Du72mOsod


190. A student builds square pattern with

square bricks using the following sequence of

steps. 

The

number of bricks used in the Ist stage is 1,the

number of additional bricks used in the 2nd

stage is 3, the number of additional bricks used

in the 3rd stage is 5 and son on. Show that the

number of bricks used upto n-stages is .

Watch Video Solution

n2

https://dl.doubtnut.com/l/_zMLpQLtDRPpK


191. Suppose the digits of a positive integer,

having three digits ,are in A.P.Can you assume

the digits in hundreds place ,tens place as.

 and ? If the sum of the digits is

15, find a

Watch Video Solution

a − b, a a + b

192. Suppose the digits of a positive integer,

having three digits ,are in A.P . And their sum is

15 .Can you assume the digits in hundreds place

,tens place as.  and ? If in additiona − b, a a + b

https://dl.doubtnut.com/l/_QBjZIAbP9Emi
https://dl.doubtnut.com/l/_W2zMUiVljaEK


the number obtained by reversing the digits is

594 less than the original number , find the

three digit number.

Watch Video Solution

193. Suppose two Cars start together in the

same direction from the same place. The first

goes with uniform speed of The

second goes at a speed of  in the first

hour and increases the speed by  each

succeeding hour.Find the distance travelled by

the first car in 'n' hours.

10km/hr.

8km/hr

1/2km

https://dl.doubtnut.com/l/_W2zMUiVljaEK
https://dl.doubtnut.com/l/_oPnmaT1EcnPs


Watch Video Solution

194. Suppose two Cars start together in the

same direction from the same place. The first

goes with uniform speed of The

second goes at a speed of  in the first

hour and increases the speed by  each

succeeding hour.Find the distance travelled by

the second car in 'n' hours.

Watch Video Solution

10km/hr.

8km/hr

1/2km

https://dl.doubtnut.com/l/_oPnmaT1EcnPs
https://dl.doubtnut.com/l/_ubdZG7yhHT4M


195. Suppose two Cars start together in the

same direction from the same place. The first

goes with uniform speed of The

second goes at a speed of  in the first

hour and increases the speed by  each

succeeding hour.After how many hours will the

second car overtake the first car if both cars go

non-stop?

Watch Video Solution

10km/hr.

8km/hr

1/2km

https://dl.doubtnut.com/l/_QnCMGkJV1tjQ


196. Consider the quadratic equation

 Find the

discriminant of the quadratic equation .

Watch Video Solution

(b − c)x2 + (c − a)x + (a − b) = 0

197. fill in the blank by choosing the correct

answer from the bracket .If a,b,c are in A.P.then

Watch Video Solution

2b = .... ( , a + c, ac, )
a + c

2

2ac

a + c

https://dl.doubtnut.com/l/_gQ8ND21Ajg2I
https://dl.doubtnut.com/l/_orK36Fcj1UHV
https://dl.doubtnut.com/l/_R5I8Y3VgWczq


198. Consider the quadratic equation

 If a,b,c

are in A.P. prove that the given quadratic

equation has equal roots.

Watch Video Solution

(b − c)x2 + (c − a)x + (a − b) = 0

199. Arun writes letter to 3 to his friends He

asks each of them to copy the letter and mail to

3 different persons with the request that they

continue the chain similarly . Assuming that the

chain is not broken and that it costs re.1 to mail

https://dl.doubtnut.com/l/_R5I8Y3VgWczq
https://dl.doubtnut.com/l/_PMDZh82fGbcu


one letter. Find the number of letters in the

2nd and 3rd set

Watch Video Solution

200. Arun writes letter to 3 of his friends He

asks each of them to copy the letter and mail to

3 different persons with the request that they

continue the chain similarly . Assuming that the

chain is not broken. Form the sequence of the

number of letters mailed in different sets.

Watch Video Solution

https://dl.doubtnut.com/l/_PMDZh82fGbcu
https://dl.doubtnut.com/l/_TAsQzMqdEYM5


201. Arun writes letter to 3 of his friends He

asks each of them to copy the letter and mail to

3 different persons with the request that they

continue the chain similarly . Assuming that the

chain is not broken .Find the number of letters

in the 8th set.

Watch Video Solution

202. Arun writes letter to 3 of his friends He

asks each of them to copy the letter and mail to

https://dl.doubtnut.com/l/_TAsQzMqdEYM5
https://dl.doubtnut.com/l/_JkixOeGl5dya
https://dl.doubtnut.com/l/_JrnAzpIlB6yo


3 different persons with the request that they

continue the chain similarly . Assuming that the

chain is not broken .Find the number of letters

in the 8th set.

Watch Video Solution

203. Arun writes letter to 3 to his friends He

asks each of them to copy the letter and mail to

3 different persons with the request that they

continue the chain similarly . Assuming that the

chain is not broken and that it costs re.1 to mail

https://dl.doubtnut.com/l/_JrnAzpIlB6yo
https://dl.doubtnut.com/l/_mavADNKBeCzf


one letter. Find the cost if all the letters in the 8

sets are considered.

Watch Video Solution

204. Height of a plant at a certain date is 1.6m.

Suppose that the height is increased by 5 cms

in the following year and the height is

increased in each year by half of that in the

preceding year. Find the increase in height in

2nd year and 3rd year.

Watch Video Solution

https://dl.doubtnut.com/l/_mavADNKBeCzf
https://dl.doubtnut.com/l/_YQhNvx0s8owI


205. Height of a plant at a certain date is 1.6m.

Suppose that the height is increased by 5 cms

in the following year and the height is

increased in each year by half of that in the

preceding year. Find the height of the plant at

the end of n years.

Watch Video Solution

206. Consider the series

 prove that the5 + 11 + 19 + 29 + 41 + . .

https://dl.doubtnut.com/l/_YQhNvx0s8owI
https://dl.doubtnut.com/l/_akikTlnpGvDx
https://dl.doubtnut.com/l/_RxdQNEdslJnQ


difference of successive terms form an A.P. Find

its nth term

Watch Video Solution

207. Show that the sum of  and 

 terms of an A.P . Is equal to twice

the  term.

Watch Video Solution

(m + n)th

(m − n)th

mth

https://dl.doubtnut.com/l/_RxdQNEdslJnQ
https://dl.doubtnut.com/l/_VE995HXN9oRL


208. If the sum of three number in A.P. is 24 and

their product is 440 ,find the numbers

Watch Video Solution

209. If  are respectively the sums

of n, 2n and 3n terms of an AP.Prove that

Watch Video Solution

S1, S2 and S3

S3 = 3(S2 − S1)

https://dl.doubtnut.com/l/_zkAYRr1N9SLd
https://dl.doubtnut.com/l/_10BC2JnTYyrd


210. Find the sum of multiple of 7 between 200

and 400.

Watch Video Solution

211. Find the sum of integers from 1 to 100 that

are divisible by 2 or 5

Watch Video Solution

https://dl.doubtnut.com/l/_rfbfsQMZeBYd
https://dl.doubtnut.com/l/_UKxNtaS5oefI


212. Find the sum of all two digit numbers

which when divided by 4, yields 1 as remainder

Watch Video Solution

213. If f is a function satisfying f(x+y)=f(x)f(y) for

all  such that  and 

, find the value of n.

Watch Video Solution

x, y ∈ N f(1) = 3

n

∑
x= 1

f(x) = 120

https://dl.doubtnut.com/l/_tJKD5S1OcLrz
https://dl.doubtnut.com/l/_P1nPzbqyiYn2


214. The sum of some terms of a GP is 315

whose first term and the common ratio are 5

and 2 respectively. Find the last term and the

number of terms.

Watch Video Solution

215. The first term of a G.P. is 1. The sum of the

third term and fifth term is 90. Find the C.R of

the G.P

Watch Video Solution

https://dl.doubtnut.com/l/_IHaQUzThPIrA
https://dl.doubtnut.com/l/_qwdNXGdb5x3u


216. The sum of three numbers in G.P. is 56. If we

subtract 1,7,21 from these numbers in that

order. We obtain an A.P. Find the numbers.

Watch Video Solution

217. A G.P. consists of an even number of terms.

If the sum of all the terms is 5 times the sum of

terms occupying of odd places, then find its

common ratio.

Watch Video Solution

https://dl.doubtnut.com/l/_KPxuo4MAHFkv
https://dl.doubtnut.com/l/_tA2tyJ7eSk3S


218. The sum of the first 4 terms of an A.P. is 56.

The sum of the last 4 terms is 112. If its first

term is 11, then find the number of terms.

Watch Video Solution

219. If 

then show that a,b,c and d are in G.P.

Watch Video Solution

= = (x ≠ 0)
a + bx

a − bx

b + cx

b − cx

c + dx

c − dx

https://dl.doubtnut.com/l/_lROSWZv2xFH1
https://dl.doubtnut.com/l/_NwLW9SOLi2vC


220. Let S be the sum P the product and R the

sum of reciprocals of n terms in a G.P. Then

prove that 

Watch Video Solution

P 2Rn = Sn

221. The and  terms of an A.P. are a,b,c

respectively. Show that

Watch Video Solution

pth, qth rth

(q − r)a + (r − p)b + (p − q)c = 0

https://dl.doubtnut.com/l/_GStHvJ2WgSq4
https://dl.doubtnut.com/l/_AitONHVEQ9pP
https://dl.doubtnut.com/l/_UnbjwJAedFju


222. If a 

are in A.P. prove that a,b,c are in A.P.

Watch Video Solution

( + ), b( + ), c( + )
1

b

1

c

1

c

1

a

1

a

1

b

223. If a,b,c,d are in G.P. prove that

 are in G.P.

Watch Video Solution

(an + bn), (bn + cn), (cn + dn)

224. If a and b are the roots of

 and c,d are the roots of x2 − 3x + p = 0

https://dl.doubtnut.com/l/_UnbjwJAedFju
https://dl.doubtnut.com/l/_LSdVUrICCPQr
https://dl.doubtnut.com/l/_q3jbwzFjEgmt


 where a,b,c,d form a G.P.

prove that .

Watch Video Solution

x2 − 12x + q = 0

(q + p) : (q − p) = 17: 15

225. If a,b,c are in A.P. b,c,d are in G.P. and

 are in A.P. prove that a,c,e are in G.P.

Watch Video Solution

, ,
1

c

1

d

1

e

226. Find sum of 5 + 55 + 555 + ... to n terms.

Watch Video Solution

https://dl.doubtnut.com/l/_q3jbwzFjEgmt
https://dl.doubtnut.com/l/_2dAlBWivLjlp
https://dl.doubtnut.com/l/_BJ9eoouxU000


227. Find the sum of the following series upto n

terms …

Watch Video Solution

0.6 + 0.66 + 0.666 +

228. Find the  term of the series 

… to n terms

Watch Video Solution

20th

2 × 4 + 4 × 6 + 6 × 8 +

https://dl.doubtnut.com/l/_BJ9eoouxU000
https://dl.doubtnut.com/l/_U7w0DjVKCtVU
https://dl.doubtnut.com/l/_dgsI3i77ORzS


229. Find the sum of the  n terms of the

series …

Watch Video Solution

1st

3 + 7 + 13 + 21 + 31 +

230. If  are the sum of the first n

natural numbers, their squares and their cubes

respectively, show that 

Watch Video Solution

S1. S2. S3

9S2
2 = S3(1 + 8S1)

https://dl.doubtnut.com/l/_wtjqHLGdnzZJ
https://dl.doubtnut.com/l/_f2uD4JTlbOXL


231. Find the sum of the following series upto n

terms …

Watch Video Solution

+ + +
13

1
13 + 23

1 + 3

13 + 23 + 33

1 + 3 + 5

232. Show that

Watch Video Solution

=
1 × 22 + 2 × 32 + . . + n × (n + 1)2

12 × 2 + 22 × 3 + . . + n2(n + 1)

3n + 5

3n + 1

https://dl.doubtnut.com/l/_9Zu7wRwIIrhq
https://dl.doubtnut.com/l/_dnjcbHngKSKC


233. A farmer buys a used tractor for Rs. 12,000.

He pays Rs. 6000 cash and agrees to pay the

balance in 12 annual instalments of Rs. 500 plus

 interest on the unpaid amount How

mush will the tracter cost the farmer?

Watch Video Solution

12 %

234. Shamshad Ali buys a Scooter for Rs. 22000.

He pays Rs. 4000 cash and agrees to pay the

balance in annual instalment of Rs. 1000 plus

https://dl.doubtnut.com/l/_7bgG8eRqSneD
https://dl.doubtnut.com/l/_JsITAViQyt6D


 interest on the unpaid amount. How

much will the Scooter cost him?

Watch Video Solution

10 %

235. A person writes a letter to four of his

friends. He asks each one of them to copy the

letter and mail to four different persons with

instruction that they move the chain similarly.

Assuming that the chain is not broken and that

it costs 50 paise to mail one letter. Find the

amount spent on the postage when the  set of

letteris is mailed.

8

https://dl.doubtnut.com/l/_JsITAViQyt6D
https://dl.doubtnut.com/l/_sutl8My3cs6e


Watch Video Solution

236. A man deposited Rs. 10000 in a bank at the

rate of  simple interest annually. Find the

amount in  year since he deposited the

amount and also calculate the total amount

after 20 years.

Watch Video Solution

5 %

15th

237. A manufacturer reckons that the value of a

machine, which costs him Rs. 15625 , will

https://dl.doubtnut.com/l/_sutl8My3cs6e
https://dl.doubtnut.com/l/_No0d9qE2I6dw
https://dl.doubtnut.com/l/_nsSMplhdLZbQ


depreciate each year by . Find the

estimated value at the end.of 5 years.

Watch Video Solution

20 %

238. 150 workers were engaged to finish a job in

a certain number of days. 4 workers dropped

out on second day 4 more workers dropped out

on thrid day and so on. It took 8 more days to

finish the work. Find the number of days in

which the work was completed

Watch Video Solution

https://dl.doubtnut.com/l/_nsSMplhdLZbQ
https://dl.doubtnut.com/l/_R4D5YPKHuHFm


https://dl.doubtnut.com/l/_R4D5YPKHuHFm

